HW 2 :   Cct for non EE students                    Due date: 22/4/2012    by 1:00 P.M

Solve the following questions:

[image: image1.png]3.39  Find the Norton equivalent to the left of terminals
a and b of the circuit shown in Figure P3.39.
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Figure P3.39



[image: image2.png]3.34  Find the Thévenin equivalent for the circuit of
Figure P3.34.
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Figure P3.34



[image: image3.png]3.51  Using superposition, determine the voltage across
R in the circuit of Figure P3.51.

Vsi=Vea=12V
Ri=R=R;=1kQ

Figure P3.51




[image: image4.png]4.7 Find the energy stored in cach capacitor and
inductor. under steady-state conditions, in the circuit

shown in Figure P4.7.
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[image: image5.png]4.10  The voltage across an inductor plotted as a function
of time is shown in Figure P4.10. If L = 0.75 mH.
determine the current through the inductor at
t=15ps.
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Figure P4.10




[image: image6.png]4.30 Determine the equivalent impedance in the circuit
shown in Figure P4.30:

v(1) =7 cos (3,000 + ) V

Ri=23kQ R =11kQ
L =190 mH C =55nF

Figure P4.30





[image: image7.png]4.47  Using phasor techniques. solve for i in the circuit
shown in Figure P4.47.
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Figure P4.47




